‘?&2‘ géb ready for The non ealeqldbor paper... One dlep 4t 2 Time..

4

MOM{M Tuesomg Weoiwesd% Tl/\wsdag Fv’wlag The weekend!
(o) Factorise 3 A cylinder has a diameter of 6cm
23x1.4 15% of 324 - 12 2 —of 63 and a height of 7cm. What is the '
i ‘ \ 48 / \ / \GX + 15X/ u / volume in terms of 7? |
-, / 1274 e 474 1574 - 16-17/4
4 30% of ) Factorise A rectangular field is 6m by 8m.
- Of 130 347 X 24 288 o 16 XZ + 15x + 54 How long is the length of the
5 7 ‘ \ \ 64 . \ - diagonal?
ey / 1974 2074 / - / - / - TRy
175% Z Of 18 EXpand Slgnpllfgy The probability of me winning a game is
\ _ X° XX 0.35. If you play the game 250 times, how )
Of 12 / \ 04 X 07 . \3 / ((ll'm 15) \ 4 / ‘ many times would you expect to win? ‘
- 2574 ~, / 24 2274 29/4 2674 -1/
35% off 3 1 5 Write 4.23x10° as 6 out of 20 as Evaluate | put £200 in a bank account. It gets
- X — an ordinary \ t 2 3 5% interest each year. How muchdo
\ £70 / \ wumber / \af)ercen / \4 +5 / - | have after 2 years? ‘
Vs +/5 5/5 &/5
F-2/5
HCF Of 18 EXpa nd Solve 4 2 (I;i.ndt?: 5 numbers have a mean of 6, a
. _ - = = SolelielinEiges el median of 7 and mode 8. What
\and 30 \(n+2)(n ) \5 3X- 9 \7 5 Wney: 2x - 4 could these numbers be? !
Tous / 1o/5 / 11/5 / 1z/5 / - ieE
Slmpllfy 4 2 0.032 LCM of 6 4 2 ) 2 A cube has a side length of 4cm.
2\ 3 \ - — 4 What is the total surface area of
N\ (3X ) / \ 3 / N\ / -2 nd 10 / ) -, 3 / the cube?
te/5 1}4/5 - - - - 21-22/5
"F‘)’rrc'fjulcfgﬁij Share £150 in EXAM DAY
prime factors ) the ratlo 3:2 \ / Your steppinj élones Lo Suceess LH @PLrucemﬂthS
235 D4/5 25/5
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